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l i) (S)-tBu-PHOX, Pdy(pmdba)s,
toluene, 50°C

:2) LiAlH,4, Eto0, rt, then H,SO4

3) LDA, TBSCI, HMPA, THF, —78°C
% 4) Pd(OAC),, O,, DMSO, 65°C
o) \
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l :5) vinylMgBr, CuBr*Me,S, —40°C
) :6) NaH, Mel (excess), DME

5)
:6)
N OH 17) Se0,, tBUO-H, CH.Cl,, RT
:8) VO(acac)s,, tBuO,H, CH,Cl,
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9) DMP, CH,Cl,
10) 2-TMS-furan, nBulLi, Et,O
11) LiBHEt3, THF, 60°C

. 12) DMP, CHoCly, RT
: 13) MeMgBr, THF, —40°C
. 14) m-CPBA, CH,Cl,, RT

{ 15) DBU, CH,Cl,, RT
: 16) LDA, CH,CHO, THF, —78°C
: 17) MsCl, EtsN, DMAP, CH,Cl

In step 15) are two isomers formed.
Which ones, and why?



